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∞
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dε %(ε) ln(1 ± e(µ−ε)/(kT )),
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Fk(η) =
1

Γ(k + 1)

∫ ∞

0

dx xk

ex−η + 1
.
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∞
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Ω = −AV (kT )5/2G3/2(µ/(kT )), A = AΓ(5/2).
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N = −
(

∂Ω

∂µ
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T,V

= AV (kT )3/2G1/2(µ/(kT )),
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= AV k5/2
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2
T 3/2G3/2(µ/(kT )) − µ

k
T 1/2G1/2(µ/(kT ))

}
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V
�

N
��
������~�������;
N���*���$'o �8:���31��µ�

(

∂µ

∂T

)

V,N

=
µ

T
− 3

2
k
G1/2(µ/(kT ))

G−1/2(µ/(kT ))
.

G Æ v�I

kj�������D�&��
7G Æ v�I9$����('0�*���������$�4����'

CV,N = AV k5/2T 3/2

{
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4
G3/2(µ/(kT )) − 9

4

G2
1/2(µ/(kT ))

G−1/2(µ/(kT ))

}

.
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�����i�
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$�3' ���@����'�������
����bG Æ�� $ Æ&Æ $ Æ nF$ Æ � I2���('0�*�§��4$���*����')���&���$�������@���*�����������*�7�A�	�o�����$���*��1
�9�	�3���c
�����
s�#�����*�����?�C�+�	�3���K �D����~��-4���������*��$����������������	1:�-��"��������F�o�����9���$���3����"������=�>�9�L(.�����c���$'����
�o�	�3����.9�������;
7���*�

h → 0
G �( �& 

A → ∞ IP$��?(.�$-4�������3�*�A%:���*�!���H�4���*���M���C�C�$���������&���E� �F���!�c�u�o��"
�F�������*�	�3���).9��-?�* �8H�������>�s���3�h5���� ���9����������� G

h
$
T
$&�F�o�����*�	�3��'

n = N/V
Ig
*����
�1j���;
)����-?�C�����$�2�����

������
�� �3���o�$��' ��
w���!���4�����*���$�N���l���C��
c�&���������+�>����% ���{��
���-�����-?�C���*�$��'� ��*����
�� �������=�>�9������'M
���-3%
����-C�C���$���@"d�o�����&�C�����b$]�����������������������@"b-C�ª����-C���('0�*������'7���*���C�������*��
b�F�������4�������3�>��.C� ���*�$�4���*��
b$
�������4�������*���d�����*�����
��-/�&�����������*��"+�9�	�3���c
��*��
7G Æ � I=�)���&�>�

G1/2(µ/(kT )) =
n

A(kT )3/2
.

G Æ ��I
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eª�$�C����"����������#�	�o�����$���*��
#�3���&���/(*�	�$��4*��
!
���-�����-?�C�����*��.4�J����.��>�C�����u�
µ/(kT )

$c�9�$�=�����&�����9��'��*�:
���-�%
����-C�C���$�����<���o���&��
)�o���3��'� ye ���$���������3�&1j���C� ���������$�=���4�$�!���o���&��
)�o���3��'�G Æ ��I@�������?�������;
<�<���?�$1s 
8:���C�������i$&�����!(*�&���$4*��
 G1/2(µ/(kT ))

�����=�y�3�u������
�������-h�3��
c
)�$������.����u� ���/�*�����('������9��'��*��"L(*�	�$��%
4*�*� Gu�����*�&�C�����i$

a ∈ [0..1]
IP$a�*��5����&�C�A�3�o���$�������������2�_���� !���*���C�i$ �4�������������3�����	1:�-��� �*�����=�����*��1

G1/2(µ/(kT )) → 0

*����
������;


a = eµ/(kT ) → 0
$
µ/(kT ) → −∞  �*����
��o�*���$�&�*����'ª���9�o�C�������������

�����=�����������J������4$(*�&���$4*��"+���*�
µ/(kT ) → −∞ ���������*�� ��C�«�$���9�$�=�����C�C�@"§��������.��o�u�w�)���&���

Gk−1(µ/(kT )) =
a

Γ(k)

∫ ∞

0

dx xk−1

ex ± a
≈ a(1 ∓ a

2k
+ O(a2))

Gu�$�����+�E
6�o���3��')�o�������$�3���&�)�*�����	�o�����)����-9���('#���*���?�`�*���>�@������.����u��'��*��.4�����@����'�������
 �+�	
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a
I9 

�/�3�����$'�-4���+����5����0���*�$
����F'#���*�$�J�������*���+�B�&�����������*�*�+�9�������c
��*��
b$F���@����-C���
a
��������-

N
�

a(1 ∓ a

23/2
) ≈ n

A(kT )3/2
,

�����������~�������o��4*��
����?�$�*�w�c�u���+�
a
�*���$�&�����?�

eµ/(kT ) = a ≈ n

A(kT )3/2
± 1

23/2

(

n

A(kT )3/2

)2

.
G Æ ��I

x*���������)�P�o��.9���?�����N�mG Æ ��I�%�.6�o�������@"d�*���	
&�o���¹�A����-4���('����*�*�d�*�
a
�$�*�

a → 0
%�5��*�&�*�&���$���$�����

�F�o�����4���������>�&�C�����@�o�u'����*��1f����
)�F�����������3�>��.C���*��������4*�����o�~�&���?�u�$'��*��.C��.9��-C�)G
g = 1

I

µ = kT ln
Nh3

23/2π3/2V m3/2(kT )3/2
.
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����F'#���*��
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!�A�����F�����?�C�>���3��'+�������+�F�o�����9���$���3�����Y���@�o�u'����*��

pV = NkT

$
CV,N = 3kN/2

 rD.�+�������&���@�
�*�����������*�+�?�&�����������*�$12�9�	�3���c
��*��
��<�����F�����C�C�>�������BG �!�����$�*������'�1 ���L�������&�!�����������������)�+��5�(/(.��%
4*���������&�#�����	
&���F�#�=�o������4��jI����$���=���4��
�1j���;
����9���������*��"

N

AΓ(5/2)(kT )3/2
=

Nh3

23/2π3/2V m3/2(kT )3/2
,

�����l�$�*�m�>�&�C�������*��"b���?�C�����������&��� G
T ≈ 300K

Is� ����-3���	���lG
m ≈ 5. ∗ 10−26 ��.cIP$g�$�*� k ≈ 1.4 ∗

10−23 ��' ��� $
h ≈ 6.6 ∗ 10−34 ��'w ��$ V ≈ 22.4

� 3 $ N ≈ 6. ∗ 1026 ���F��-��D�&�������;
L�*���	
&���F� 1.6 ∗ 10−7  
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x*�*�d�������?�a
��!��"��;
 � ���?�$1 ���?�C�����o�����&�������@����'����*���
exp((εα − µ)/(kT ))
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εα < µ
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εα > µ
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�

Æ

< Nε >

8:���C���&������$����>�c�����L(*�&����4*���0���*�����;�&���o���*�����L5�������.4��� �!�������
εF
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µ(T )|T=0
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�*�w���C�o�����*��"ª���+���?��
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εF
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)(*�������J%,.9��-4�&�� 
�-���F�u'#�C�!�	�3�*�+����.9�����9�$'����&1 (.�����C�?�$� ���������4�������*���d���*�w�c�u�o�&�

T
�*�&���3�����*�$�
���$����.����u�o�

I =

∫ ∞

0

dεφ(ε)

e(ε−µ)/(kT ) + 1
=

(

∫ µ

0

−
∫ µ

0

)

dεφ(ε) +

(

∫ µ

0

+

∫ ∞

µ

)

dεφ(ε)

e(ε−µ)/(kT ) + 1

�#���*�&��-4�&���$'��*��"7(*�	�$��4*����"
φ(ε)

$ �����3���&�!��"6�o�+
������>���������*������� �C�=���$����������$r���?� 5����3�*���������u��$ �����
��
����������*���&�����@�;�&���o�����	�3��'D�	�3���h�������@�����/�9�o��.9���C�C���Q �t]���('��*���������*���q�!��������'��,�9�o��.9���C����� �*���$�&�*�o�

I =

∫ µ

0

dεφ(ε) −
∫ µ

0

dεφ(ε)

e(µ−ε)/(kT ) + 1
+

∫ ∞

µ

dεφ(ε)

e(ε−µ)/(kT ) + 1
.

x.����
����*��$������b���*�
T → 0
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ε ≈ µ
 	x.���9�$�D�����C���&�>������-?���C�����������C�C���������)���@����'����*���2���('����/
��@��'/�$���=�>���u���������*�/�F���
∫ µ

0

dεφ(ε) − kT

∫ µ/(kT )

0

dxφ(µ − xkT )

ex + 1
+ kT

∫ ∞

0

dxφ(µ + kTx)

ex + 1
.

e��2�������*�+� �$������.����u���=�����	���*��"/�����3���9�
µ/(kT )

���('����j
��@��'H-?���C���������o� ∞ $��*��.����� !�*�	�3��'@�$�*�!5����&��*����
&�>�>�
exp(−µ/(kT ))
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φ(µ±xkT )
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I =

∫ µ

0

dεφ(ε) + (kT )2wφ′(µ) + O((kT )4), w = 2

∫ ∞

0

xdx

ex + 1
=

π2
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N =
3

2
AV

∫ ∞

0

dεε1/2

e(ε−µ)/(kT ) + 1
≈ AV

(

µ3/2 +
3

4
α

(kT )2√
µ

)

,

����������4���
���� �*�	�P�$�3������.4� �&�����������*��
m�����&���o���i$������ �F�����������3�*��"f�*��������4*�o�u� (*�������m%0.9��-?�l���*�
�*��-��*���)���C�C�����������	�o�E�N���=����������
c
J�F���

µ = εF

[

1 − 1

2
α

(kT )2

ε2
F

+ O

(

k4T 4

ε4
F

)]

, εF =

(

n

A

)2/3 G Æ ��I

e��&���*�o$������0
���-��o��-C�C�������2� �������&�C�������&�d����-4���('����*��
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kT

εF
=

kTA2/3

n2/3
.
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+�&��������������
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p ≈ ε
5/2
F

(

2

5
+ 2α

(kT )2

ε2
F

)

,

�~���@����'����*���j����
+5����������*�*�lG Æ n�I,%

S ≈ 3α
AV

T
ε
1/2
F (kT )2.

G Æ ��I
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S → 0

���*�
T → 0
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T 3 �J5����&�C�)���@����'����*��1- �����
L�����F�����C�C�>��%�3���+(*�������)%s.9��-?�
CV,N = T (∂S/∂T )N,V

�*�*�+������'�1 G Æ ��I����('0�*�������*���4����'

CV,N ≈ 3αAV ε
1/2
F k2T.
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